
GMAT考试写作例文224篇连载(八八) PDF转换可能丢失图片

或格式，建议阅读原文

https://www.100test.com/kao_ti2020/127/2021_2022_GMAT_E8_8

0_83_E8_AF_95_c89_127159.htm 88. The following appeared in a

memorandum from the ElectroWares company’s marketing

department.“Since our company started manufacturing and

marketing a deluxe light bulb six months ago, sales of our economy

light bulband company profitshave decreased significantly. Although

the deluxe light bulb sells for 50 percent more than the economy

bulb, it lasts twice as long. Therefore, to increase repeat sales and

maximize profits, we should discontinue the deluxe light bulb.

”Discuss how well reasoned . . . etc.In this memorandum

ElectroWare’s marketing department reasons that manufacturing

and marketing of the company’s deluxe light bulb should be

discontinued. The primary factors that influence their decision are a

significant decrease in sales of the company’s economy light bulb

as well as declining company profits in the six month period

following the introduction of the deluxe bulb. Presumably, their line

of reasoning is that the introduction of the deluxe bulb is responsible

for both of these undesirable outcomes. Unfortunately, the

marketing department’s rationale is problematic for several

reasons.In the first place, the marketing department has engaged in 

“after this, therefore because of this” reasoning. The only reason

offered for the belief that the introduction of the deluxe bulb is

responsible for both the decline in sales of the economy bulb and the

decline in company profits is the fact that the former preceded the



latter. No additional evidence linking these events is provided, thus

leaving open the possibility that the event are not causally related but

merely correlated. This in turn leaves open the possibility that factors

other than the one cited are responsible for the decline in sales of the

economy bulb and the decline in company profits.In the second

place, it is not clear in the memorandum exactly how the decline in

sales of the economy bulb is related to the decline in company

profits. One possibility is that the decline in profits is a direct

consequence of the decline in sales of the economy bulb. Another is

that some other factor such as ineffective marketing of the deluxe

bulb or the start-up costs associated with the introduction of the

deluxe bulb is responsible for the decline in company profits. Until

the relationship between the events in question is fully understood it

would be folly to act upon the marketing department’s

recommendation.In conclusion, the marketing department has failed

to articulate reasons that are sufficient to justify its recommendation.

Specifically, the department has failed to establish a causal link

between the introduction of the deluxe bulb and the declines in sales

of the economy bulb and company profits. While the introduction

of the deluxe bulb may have been a contributing factor in these

declines, to strengthen the marketing department’s position

various other factors must be examined and ruled out as possible

causes of the company’s misfortune. 100Test 下载频道开通，各

类考试题目直接下载。详细请访问 www.100test.com 


